
Quest ce que le cadeau  J' - ? ( )Quel nombre se trouve dans chaque cadeau?
48 + 61 = 54 + 30 = 27 + 65 =18 + 43 = 98 + 32 = 79 + 14 =98 + 67 = 63 + 96 = 27 + 13 =73 + 51 = 42 + 25 = 60 + 3 =86 + 90 = 3 + 68 = 9 + 91 =6 + = 12 54 + = 68 12 + = 7594 + = 100 6 + = 28 50 + = 14797 + = 190 77 + = 152 10 + = 7086 + = 93 92 + = 124 60 + = 10147 + = 49 21 + = 96 55 + = 126+ 39 = 122 + 80 = 120 + 21 = 42+ 82 = 91 + 69 = 77 + 65 = 163+ 49 = 137 + 30 = 101 + 60 = 139+ 34 = 122 + 52 = 138 + 45 = 79+ 67 = 100 + 78 = 126 + 66 = 126
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Quest ce que le cadeau  J  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
48 + 61 = 109 54 + 30 = 84 27 + 65 = 9218 + 43 = 61 98 + 32 = 130 79 + 14 = 9398 + 67 = 165 63 + 96 = 159 27 + 13 = 4073 + 51 = 124 42 + 25 = 67 60 + 3 = 6386 + 90 = 176 3 + 68 = 71 9 + 91 = 1006 + 6 = 12 54 + 14 = 68 12 + 63 = 7594 + 6 = 100 6 + 22 = 28 50 + 97 = 14797 + 93 = 190 77 + 75 = 152 10 + 60 = 7086 + 7 = 93 92 + 32 = 124 60 + 41 = 10147 + 2 = 49 21 + 75 = 96 55 + 71 = 12683 + 39 = 122 40 + 80 = 120 21 + 21 = 429 + 82 = 91 8 + 69 = 77 98 + 65 = 16388 + 49 = 137 71 + 30 = 101 79 + 60 = 13988 + 34 = 122 86 + 52 = 138 34 + 45 = 7933 + 67 = 100 48 + 78 = 126 60 + 66 = 126
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